
 Sec 2.1  Geometry – Parallel Lines and Angles   Name:     
PARALLEL LINES 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

1. Give an alternate name for angle ∡૛ using 3 points:      (1 answer) 
 

2. Angles 	∡ࡱ࡮࡭  and  ∡ࡳ࡮࡯  can best be described as:       (2 answers) 
 

3. Angles 	∡૟ and  ∡૜  can best be described as:        (2 answers) 
 

4. The line 	ࡴࡳሬ⃖ሬሬሬሬሬ⃗    can best be described as a:        (1 answer) 
 

5. Which angle corresponds to 	∡࡮ࡱࡰ  :         (1 answer) 
 

6. Angles 	∡࡮ࡱࡲ  and  ∡ࡱ࡮࡯  can best be described as:       (2 answers) 
 

7. Angles 	∡૚ and  ∡ૡ  can best be described as:        (2 answers) 
 

8. Which angle is an  alternate interior angle  with 	∡ࡱ࡮࡯  :      (1 answer) 
 

9. Angles 	∡࡯࡮ࡳ and  ∡ࡲࡱ࡮ can best be described as:       (2 answers) 
 

10. Angles 	∡૛ and  ∡ૡ  can best be described as:        (2 answers) 
 

11. Which angle is an  alternate exterior angle  with 	∡ࡳ࡮࡭  :      (1 answer) 
 

12. Which angle is a  vertical angle  to 	∡ࡳ࡮࡭  :        (1 answer) 
 

13. Which angle can be described as  consecutive exterior angle  with 	∡૚ :    (1 answer) 
 

14. Any two angles that sum to 180 ̊ can be described as        angles. (1 answer) 
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WORD  BANK: 

Alternate Interior Angles 

Alternate Exterior Angles  Corresponding Angles 

Vertical Angles 

Consecutive Interior Angles ∡࡯࡮ࡳ  

Consecutive Exterior Angles 

 ૝∡ ࡴࡱࡰ∡
Transversal 

∡૞  

 	ࡳ࡮࡭∡

 ࡲࡱࡴ∡
Congruent 

Supplementary 





 
5. More formally, why do the 3 interior angles of any triangle sum to 180 ̊ ? 

 
 
 
 
 
 
 
 
 
 
 
 

Consider ∆ABC.  The segment  ࡮࡭തതതത  is extended into a line and a parallel line is constructed 
through the opposite vertex.  So,  	࡮࡭ሬ⃖ሬሬሬ⃗ ∥ ሬ⃖ሬሬሬ⃗ࡰ࡯	  . 
 
a. Why is  ∡૚ ≅ ∡૛ ?            

 
b. Why is  ∡૞ ≅ ∡૝ ?             

 
c. Why is  ࢓∡૛	 + 	૜∡࢓		 + ૝∡࢓	 = ૚ૡ૙° ?          

 
d. Using substitution we can replace ࢓∡૛	 with ࢓∡૚  and ࢓∡૝	 with ࢓∡૞  to show that the 

interior angles of a triangle must always sum to 180̊. 
 

(																	) + 	૜∡࢓		 + (																		) = ૚ૡ૙° 
 

 
Write the angle number in the   and then write the letter that corresponds with the number 
based on the code at the bottom in the box. 
  
7.  Angle 2 and Angle         are alternate exterior angles. 
8.  Angle 7 and Angle         are alternate exterior angles.  
9.  Angle 4 and Angle         are corresponding angles. 
10. Angle 5 and Angle       are consecutive interior angles. 
11. Angle 3 and Angle        are alternate interior angles. 
12. Angle 7 and Angle        are consecutive exterior angles. 
13. Angle 6 and Angle        are vertical angles. 
14. Angle 2 and Angle        are a linear pair and on the same side of the transversal. 

15. Angle 1 and Angle        are corresponding angles. 
  

1=D 2=U  3= L  4 = A  5 = N  6 = I  7 = E  8 = C 
 
 
 

What type of Geometry is this?       
 
 
 
 

1 2 
3 4 

5 6 
7 8 
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16. Given lines p and q are parallel, find the value of x that makes each diagram true. 
 
a.           b.  

 
 
 
 
 
 

 
 
 
 
 
 
17. Given lines p and q are parallel, find the value of x that makes each diagram true. 

 
a.         b.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
18.  Given lines m and n are parallel, find the value y  of that makes each diagram true. 

 
 
a.        b. 
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x =  x =  
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q 
(x)º 

140º 

(x)º 
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19.  ANGLE PUZZLE.   Find  ࡲࡱ࡭∡࢓  

  

  

 

 

 

ܨܧܣ∡݉ = 

 
 
 
 
 
 
 

 
20.  Converse of AIA, AEA, CIA, CEA.  Which sets of lines are parallel and explain why? 

 
a.         b.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
c.          d.  
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Given: 
 ࡲࡱࡰ∡࢓ = ૡ૞° 
 ࡳ࡮࡭∡࢓ = ૞૙° 
 ∡ࡱ࡭࡮  is a right angle 
 ∡ࡱࡳ࡯ and ∡ࡳࡱࡰ are supplementary 
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